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1 Chilbolton Temperature boxplot
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Figure S1: Chilbolton temperature plots in relation to total fluorescent particles and clusters.
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2 Chilbolton Relative Humidity boxplot

100 20
80 - =15 -
-
60 - 3
=10 1
40 B
g, x
L homBHY g ok
ol b B8 7 L] T I Y= S s = R S O
30-40 40-50 50-60 6070 70-80 80-90 90-100 30-40 4050 50-80 60-70 70-80 80-90 90-100
Relative Humidity (%) Relative Humidity (%)
60 8
50 _
- 6
4 =
40 3
30 - © 4 -
&
20 - g
Lo B8 L%Jﬂ%
ol o b e B3 U b X 19 [F]
30-40 40-50 5060 6070 70-80 8090 90-100 30-40 40-50 50-80 &0-70 70-80 80-80 90-100
Relative Humidity (%) Relative Humidity (%)
15
10
5_
L o
I X1 , —T
30-40 4050 50-60 60-70 70-80 80-90 90-100

Relative Humidity (%)

Figure S2: Chilbolton relative humidity plots in relation to total fluorescent particles and clusters.
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3 Weybourne Temperature boxplot
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Figure S3: Weybourne temperature plots in relation to total fluorescent particles and clusters.
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4 Weybourne Relative Humidity boxplot
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Figure S4: Weybourne relative humidity plots in relation to total fluorescent particles and clusters.
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5 Davidstow Temperature boxplot
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Figure S5: Davidstow temperature plots in relation to total fluorescent particles and clusters.
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6 Davidstow Relative Humidity boxplot
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Figure S6: Davidstow relative humidity plots in relation to total fluorescent particles and clusters.
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7 Capel Dewi Temperature boxplot

80 2
60 - =
2
#
40 - = 1
5
X E:
20 - — X] 2
I%I L] L]
0 T T T T T T 0
10to5 5100 Oto5 5t010 10to15 15t020 20to 25 10to-5 -5t00 O0to5 5t010 10to 15 15t020 20 to 25
Temperature (“C) Temperature (°C)
10 s
8 - ~
=
1 <
5 3 10
(o]
4 - ol
55 "
. o 0
—
> —
0 . ; . . ; 0 : ; . ;
10to-5 -5t00 Oto5 5t010 10t015 15t020 2010 25 40to-5 5t00 O0to5 5t010 10to15 15t020 20 to 25
Temperature (°C) Temperature (°C)
25 50
20 = 40 -
o
15 £ a9 |
w
10 4 X 3 20 - v
] 3 R
5 | S 10 H X
52 S s S e N L R - —
N R o == R L =

-10to-5 -5to0 OtoS 5to10 10t 15 15t0 20 2010 25
Temperature (*C)

-10to-5 -5t00 Ote5 5to10 10to15 15t020 20t0 25
Temperature (*C)

Figure S7: Capel Dewi temperature plots in relation to total fluorescent particles and clusters.
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8 Capel Dewi Relative Humidity boxplot
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Figure S8: Capel Dewi relative humidity plots in relation to total fluorescent particles and clusters.




9 Openair - Chilbolton
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Figure S9: Chilbolton Openair PolarPlots.
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10 Openair - Weybourne
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Figure S10: Weybourne Openair PolarPlots.

11



11 Openair - Davidstow
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Figure S11: Davidstow Openair PolarPlots.
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12 Openair - Capel Dewi
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Figure S12: Capel Dewi Openair PolarPlots.
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13 FT 4 3SD/9SD - Chilbolton
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Figure S13: Chilbolton 3SD and 9SD cluster solutions.
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Figure S14: Weybourne 3SD and 9SD cluster solutions.
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Figure S15: Davidstow 3SD and 9SD cluster solutions.

16 FT 4 3SD/9SD - Capel Dewi
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Figure S16: Capel Dewi 3SD and 9SD cluster solutions.
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